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Balancing Chemical Eguations

Balance the equations below:
1) ; Na + 5 H: = & NHa
2) 2 KCIO; > 2 KCi+ 2 0,

3) = NaCl+__ | Fz» & NaF+_ 1 Cb

4) 2 He+ | 0> 2 HO0

5 | Pb(OHR+ & HCI=> 2 H,0+ | PbCh
8) _ X ABr+_2 KS04> _ L KBr+_| Al(SOus
7y | _CHa+_ 2 03> | COx+_ 2 Hy0

8) \_CBHB"'iOzv\_Z’COg*-ngO

9) & CgHup+ 2S5 0, (& CO,+ & H,O

10) | FeCh+_ 2 NaOH=> ! Fe(OH);+ 2 NaCl

1) 4 P+ S 0,5 & POs

12) 2 Na+ & H0> < NaOH+ | H,

13) & Ago~> 4 ag+ | 0,

14y |

15 o coy+ G H0> | CeHuOs+ & 0,

1) | K+ | MgBr=> | KBr+ | Mg

17)  _&d HCI+_ | CaCO3> __ i\ CaClh+_1 HO0+__ | CO;
48) | HNOs+_ | NaHCO;> | NaNOs+ | H,0+ | CO,

1) 3 H O+ | 0. 3 H0,

20)  _ 2 NaBr+ | CaF,>_ 2 NaF+_| GaBr

21) | HS0s4+_J NaNO:-> 2 HNO,+ | NaxSOs
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